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PUBLIC ADMINISTRATION
Paper — 111
Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

i i 4.  Constitution of a high level panel
Which of_the fO”oW'ng staterr}en_ts comprising CAG, CVC and the
about Delivery Monitoring Unit in Cabinet Secretary to ensure clean and
PMO is correct ? accountaglg Government was
(A) It deals with the appointments suggested by

: ; A) Paul H. Appleby
to different posts in Central B) A.D.Gorwala o
Government. . C) Fifth Central Pay Commission
(B) It reviews Budget_prowsmns. D) Sixth Central Pay Commission
(C) Itexamines security measures. 5. Which Article of the Constitution
(D) It reviews and select programmes authorlsesbl?artl|_arrt1r(]antS ttotenﬁ_cttlgglslatlon
including MNREGA, NRHM, on any subject In the State LISt 7
A) “Article 200 (B) Article 247
INNURM, SSA, etc. (0] Artidle 249 (D) Articls 280
" : - : 6.  Which of the following
Every person holding a civil post in recommendation was not made by
British India holds it during the Second Administrative  Reforms
pleasure of His Majesty and may not Commission relating to appointment
be dismissed from the service by an of Chief Secretary in a State ?
authority lower in rank than the (A) gphp:g{nte dSecretaryon shall th
authority which appointed him.” It recommendation of a Collegium.
was provided for the first time by (B) The Collegium shall consist of
which of the following Acts ? nominee of the Chief Minister.
(A) Government of India Act, 1858 (C) The Lgader thQIO osition and
(B) Indian Council Act, 1892 incumbent  Chiet Secretary
(C) Government of India Act, 1919 (D) The Government shall consult
(D) Government of India Act, 1935 with the Governor.
7. Match List — I with List — Il. Select
Which one of the following is not the correct answer from the codes
correct about the  comparison glvenLki)g'lO—WI: List_ 11
between CE)abmet Secretary and Chief (Institutions) _(Ministries
Secretary o (a)Central (i) Ministry o
(i) Both are administrative heads Administrative Labour

of respective Governments.

(i) Both are chief regulators and
co-ordinators of their
respective administration.

(ili) Both supervise the decisions

(b)gribllmal (CAT) (i) Mini ‘

mployees’ i) Ministry o

Proeid_gnt_Fund Humany
Organization Resource

___Development
(c) Border Road (iii)Ministry of

and policies of respective Organization Eﬁﬁ?gnel,
Governments. Grievances

(iv) Both have Ministerial or
Departmental responsibilities.
Select the correct answer from the

) ~_and Pensions
(d)National Council (iv)Ministry of
of Educational Surface and

given codes : Research and National

S:) des&_:) o i CO‘I;jrgén:mg (NbCER'(I')) I—;l)ghways
1), (1) and (il a C

& G TEEE

(©) (i), (ili) and (i) 2 ﬁ Y ﬁ%

(D) Only (iv) D) (iv 8 (i) (i)
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10.

11.

Arrange the following Committees

on Civil Service Reforms in a

chronological order and select the

correct answer from the codes given

below :

(i) Hota Committee

(i) Kothari Committee

(ii1) Yogendra Kumar Alagh Committee

(iv) Sathish Chandra Committee

COdeS.: - - -

(A) (1), (iii), (i), (iv)

(B) (i), (i), (iv), (ii)

(C) (i), (1v), (iin), (i)

(D) (i), (iv), (ii), (i)

The Ministry of Personnel, Public

Grievances and Pensions was created

in which of the following years ?

(A) 1970 (B) 1973

(C) 1977 (D) 1985

Which one of the following is not the

softwares  developed for the

improvement and simplification of

the Accounting System of Central

Government offices :

(A) Government Accounting
Information System (GAINS)

(B) Controller’s Account
(CONTACT)
(C) Institute of Government

Accounts and Finance (IGAF)
(D) Integrated Multimodule

Processor for Voucher Entries
(IMPROVE)

Which of the following is not

matched correctly ?

(A) Technical — Institute  of
Guide for Chartered
Accounting Accountants
and Financial of India
reporting by
urban local
bodies

(B) Bangalore — Civic
Agenda Task Organization
Force

(C) Introduction of — World Bank

accrual based Financial
accounting in Assistance
7 cities of
Gujarat
(D) JNNURM — Provision of

job guarantee
for the poor

Paper-111

12.

13.

14.

Which of the following statements
about the Task Force on Accounting
and Budget Formats for ULBs (2002)
is not correct ?

(A) It was appointed by the CAG

of India.

(B) It devised model budget
formats alongwith accounting
formats.

(C) It made recommendations on
introduction of cost accounting
and MIS in ULBs.

(D) It was appointed by the 11"
Finance Commission.

“In view of the emergence of District
as the key unit of field
administration, there is no need to
have an intermediate level of
administration between State
headquarters and the District.” This
recommendation was made by

(A) Hanumanthaiah Committee
(B) Veerappa Moiley Committee
(C) Balwant Rai Mehta Committee
(D) K. Santhanam Committee

Which of the following statements

about the UPSC is not correct ?

(A) The composition of the UPSC
is determined by the President
of India.

(B) Half of the members of the
UPSC should be from those
who have held office for at
least 10 years under the
Government.

(C) UPSC can also serve the needs
of a State on the request of the
Governor and with the consent
of the President of India.

(D) The member of the UPSC can
resign by addressing the
resignation  letter to the
Chairman of the UPSC.
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10.

11.

fafaet Ter gari W Fefata |ttt
H HAHHF HH T Fafd H 3T
T 52 el =l TR ¥ el IW H
T

(i) @ §ER

(i) et afffa

(iii) IS FAR TeTe [

(iv) Srer == gt

T4

(A) (), (iii), (ii), (iv)
(B) (iii), (i), (iv), (i)
(C) (i), (iv), (iii), (i)
(D) (iii), (iv), (i), (i)
=1 O T a9 nifeq feram mam ar 2
(A) 1970 (B) 1973
(C) 1977 (D) 1985

H% AIHR & FIATE! Hl oRETH JOTCAT

T guR 3R Wetioor & fau = 5 9

I T W) faehiad =&l feram T & 2

(A) TEHE STHSFT THEYH A
(GAINS)

(B) 2ol 3THTS< (CONTACT)

(C) IFLiege 3 TaH=e 3THIS<d
e wEH (IGAF)

(D) T ToeMicde WEE ®R
AR T (IMPROVE)

=1 5 @ 9 Tel ¥ ¥ gaferd e € 2

(A) &0 =FE e - TR
R oEi @ 3% WRe
qasd % folw TRl
LERIEARINENES] A fear

(B) SR USieT eReh — AN
kocs ger

(C) ™TRIA® 7 TR & — fova &%
TG T AReH FRT fomiE
JYR I TRY Herar

(D) SO He® — TS H
T eSO LR (S 1 1
FAHRROT  fgeE RS @
(STTATAY U, )
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12.

13.

14.

TRE ©HE Geret & fow aEmesor

qAT S IMEA W H 51 (2002) &

Hay § ffarad O § Si9 J1 HeF T

T T2

(A) 38 9Rd % T IR Hee
TRteTeh BT et e T o |

(B) 3T HiEeT SSie ST o Wro-Td
TTRETERIOT STTEYT bt off 9 feka |

(C) TO TR TMT T3t § AT
TGO T U ST U9 3R
A i TR A1 |

(D) =@ 119 faa smEm grr fAge
Topar T o |

“&17 YAl TG TS h ®9 H el
% WA 6 HRUN T TEATHT T 57T
% S TRMEE % U Heedl WX @
SMITIHAT Tal & |7 TE ST et
T

(A) &I FEA

(B) @R Hrget |t

(C) orad ™ Hear At

(D) . Ggmw gffq

FATEH, & IR A H=farEd § § S

T AT TE TE & 2

(A) FU.THH. T TS IRA P Tl
FRT Feiie g € |

(B) FUwad. & TIE H F I
ITH ¥ B AT SRiH SR
FETT T MBI & 98 T FHH-
YA 10 T qH B AT T |

(C) FMTAH. TSI & TRY W
TAT YRT & LU S FgAT T
T Tt SMATIHATST h of T HT
THATE |

(D) FUI.THH. FHT T AT IR
JU TG F 31T Bl HeATd

Yok U5 T Y TehelT & |
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15.

16.

17.

18.

Which of the following is not the
magisterial powers of a District
Collector ?

(A) Power to issue arms licences.
(B) Power to seek help of the
military in grave situation.

(C) Transfer of the Deputy
Superintendent of Police.

(D) Maintenance of Law and
Order.

Assertion (A) : Ideally, the question
sequence should conform to the
respondents’ way of thinking.

Reason (R) The questions of
personal character need to be
avoided as opening questions.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Who stated that “We cannot take a
single step forward in an inquiry
unless we begin with a suggested
explanation or solution of the
difficulty which originated it” ?

(A) Lundberg

(B) Werkmeister

(C) Robert and Merton

(D) Cohen and Hegel

Which of the following principles
were enumerated by R.A. Fisher as
the principles of experimental
research design ?

(i)  Principle of Local Control

(if)  Principle of Matching

(iii)  Principle of Randomization

(iv) Principle of Replication

Select the correct answer by using
codes given below :

Codes :

(A) (1), (i), (iin)

(B) (i), (iii), (iv)

(C) (i), (i), (iv)

(D) (i), (iii), (iv)

Paper-111

19.

20.

21.

The statement “Knowledge is Foresight

and Foresight is power” relates to

(A) Pure research

(B) Applied research

(C) An interplay between ‘Pure’
and “Applied’ research

(D) Empirical research

Match List — I with List — Il. Select
the correct answer from the codes

given below :
List— 1| List—11

(Institutions) (Ministries)

(a) Central (i) Ministry of
Administrative Labour
Tribunal
(CAT)

(b)Employees’ (if) Ministry of
Provident Fund Women and
Organization Child

Development
(iii) Ministry of
Human
Resource
Development

(c) Central Social
Welfare Board

(d)National (iv) Ministry of
Council of Personnel,
Educational Public
Research and Grievances
Training and Pensions
(NCERT)

Codes :

(@ () () ()

(A) @) () (i) (iv)

(B) (i) (i) (iv) (i)

(C) (i) (iv) (1) (i)

(D) (v) () (i) (i)

Which of the following Commission

/ Committee had recommended that

there should be All India Services in

the area of Education, Health,

Judiciary and Engineering ?

(A) M.M. Punchhi Commission on
Centre-State Relations (2010)

(B) Sarkaria  Commission  on
Centre-State Relations (1988)

(C) Second Administrative
Reforms Commission Report —
Refurbishing of  Personnel
Administration (2008)

(D) The Committee on Civil
Service Reforms (2004)

S-14-13



15.

16.

17.

18.

= 9 @ 591 el ShotaeY i IuSAa®

ifeRT T&l & 9

(A) FRER & ORI SR wH H
ifoRT

(B) TR TEAfd ® HAT I WewEdl o
EdRIEh]

(C) YfeTa SuTeiierss ol TIHIROT
(D) A AR T S T

AMHTT (A) : ARY €T H A, TH
FH WG % GeH &
Ik & ST AT =Mfed |

A% (R) : ARET UHA & WAl B
IEAT F Ul F T H ST
I G T A |

I

(A) (A) 3R (R) 34T Tl & 3R (A)
1 (R) Tel TR0 ¢ |

(B) (A) 3R (R) =T Wl & 3R (A)
1 (R) Hel TR0 &1 € |

(C) (A) W& e, == (R) T ¢ |

(D) (A) Tord ¢, W= (R) Tel ¢ |

“GHET T I A el HiSAE &
RIS TSEIRIOT AT FHTEA h I hT
fomm g0 fordt S & Ueh e ot 2 e
T T — T8 TohT el € 2

(A) ofuesHt

(B) doehEeT

(C) &< am e

(D) hieH T A

IRT, R 9 T=fefed & & A
EIdl &l JAnTesh IMY STheT &
Tagial & ¥ § areiord fhar € 2

(i) TR = % fagia

(i) gHeH =1 a5

(iii) aTGTeshiHoT %1 gz

(iv) YRgra 1 fagia

fAfefad et ot Terar ¥ el 3w H
ERE] :

%

(A) (i), (i), (iii)

(B) (i), (iii), (iv)

(©) (1), (i), (iv)

(D) (), (iii), (iv)
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19.

20.

21.

“STFT SRETITT & T SRS Wik @7 —

T HUF B Ty D € 2

(A) gs ™

(B) IR A

(C) s T IR Wy F A
3T Tsha

(D) Ao ¥

g — | H® g - | % 9 gHferd
HicTT | A 7T 7T el B FerEdr 9

Tl I 1 TIT HITT -

= - | =t - 1
(FETy) CEIGE)

(a) H=g (i) s G
PHIEIEES
TATEHTOT

(b) R "o (i) Aer WS
At e T o

T

©) F== (ifi) T ST
AT [EEar)
FHAT TS T

(d) = s (iv) I, ol

%
(@ () () (d)

(A) () (i) (i) (iv)

B8) (i) (i) (iv) (i)

(C) (i) (v) (i) (i)

(D) (iv) () (i) (iii)

frafafga & ¥ fog emamatma 3

Ut qeT IR 6 & |

G TR FaTd g =T 2

(A) FE-T5 T W THTAE. IS
ST (2010)

(B) 5T TaHl W TRHINAT ST
(1988)

(C) s wemaMe U &R &t
Tieg- A TR i sl
(2008)

(D) Tafger dar guw @mfd (2004)
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22.

23.

24,

25.

Assertion (A) : The fundamental
ethos of the employee-
employer relationship is
utilitarian and contractual.

Reason (R) : Both employees and
employers are tied into mutual
exchange relations.

Codes :

(A) Both (A) and (R) are correct and
(R) is correct explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Fiscal Responsibility and Budget
Management (FRBM) Act in India
was passed in which of the following

years ?
(A) 2003 (B) 2006
(C) 2009 (D) 2011

“Authority stems from the task being
performed and from the situation”
who among the following suggested
this concept of authority ?

(A) Herbert A. Simon

(B) Mary Parker Follett

(C) Chester I Barnard

(D) Max Weber

Match List — | with List — Il. Select
the correct answer from the codes
given below :
List -1
(Institutions)

List—11
(Year of
Establishment)
(a) National (i) 2008

Authority for

Chemical

Weapons

Convention
(b) Performance (ii) 2004

Management

Division
(c) National (iii) 2009

Advisory

Council
(d) Councilon  (iv) 1997

Climate

Change
Codes :

@ () © (@
(A) (v) (i) (i) (i)
(B) () () @iy (v)
(C) () (v) (i) (i)
(D) (i) @)y (1) ()

Paper-111

26.

27.

28.

29.

Assertion (A) : The Central Social
Welfare Board acts as a change
maker with a humanitarian
approach.

Reason (R) : It facilitates
networking of committed social
workers for the empowerment
of women and children.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

‘Sarva Shiksha Abhiyan (SSA) or
education for all’ is an outcome of
which of the following Constitution
Amendment in India ?
(A) 42" Amendment
(B) 44™ Amendment
(C) 59" Amendment
(D) 86™ Amendment

The midterm appraisal of NHRM in

2009 observed that

(A) there has been decline in health
indicators.

(B) there has been a significant
improvements in health
indicators.

(C) no change is noticeable in it.

(D) the  appraisal was  not
conducted.

Which one of the following is not an
indicator of low level of social
welfare ?

(A) High rate of crime

(B) Unemployment

(C) Poverty

(D) Higher life expectancy

S-14-13



22.

23.

24,

25.

Ao (A) . FHARI-FEERT e
H T WP STANTAEET qe
TfeTeAeh et € |

% (R) : FHOR R e S
UREIReE ST % T H a9y
B E |

%< !

(A) (A) 3iX (R) 3T T T 3T (A)
1 (R) Tel TR0 T |

(B) (A) &R (R) a1 W € 3 (A)
1 (R) Hel TR0 =& € |

(C) (A) W& & == (R) T ¢ |

(D) (A) ot €, W= (R) W& € |

TR H foig STREIa e so7e e
(FRBM) stiufag =1 o @ T ad
IR F3T T 2

(A) 2003 (B) 2006

(C) 2009 (D) 2011

“mifqeeR, Tremea fhT < @ % T
aRfeId § F.ga 8 &7 MR & 3
Hehou T 1 gerd Fefoiad § & foree
feam & 2

(A) ST AEEA

(B) TR U HITIE

(C) =X e, a8

(D) T A

g — | H® gE - |l % 9 gt
HIMT | A= KT T Fei H TEEd 4
HEl I I TFT BT
it - | =t - 1
(W) (TITQAT )
(a) T wifgeRor, (i) 2008
A AR
Ty
(b) TR FEw T
(c) T WHRTRTA
IRug

(d) Sterarg uRad=
RO

(i) 2004
(iiii) 2009

(iv) 1997

HT

(@ () (© ()
(A) (iv) (i) (i) (i)
(B) () () (i) (iv)
(€ () (v) (i) (i)
(D) (i) () (1) (v)
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26.

27.

28.

29.

AR (A) : FEE AN FHeA0T qIE
THadTETE! SUNH & | GiedT
el o ®0 H B AT T |

a% (R) : I HAfeemsli o =i &
0T & fod  uldeg
QI SHIhieA & e i
YT ST |

ETE

(A) (A) 3R (R) 34T Tl & 3R (A)
1 (R) Tel T ¢ |

(B) (A) 3R (R) I Tel € 3R (A)
T (R) T8t TIEeHIoT T8l & |

(C) (A) T g, W= (R) T & |

(D) (A) Tord €, W= (R) Wel ¢ |

‘g eT oM (TEUET)  SfHar
TSoheH B 3o efared § | 69
TfruT FMeF 1 Uidhet & 2

(A) 428 Fee

(B)  44aif G

(C) 59at Teme

(D) 86aT TEEA

2009 H UAUFARTH, F HEHA
3 | I8 3ifehd fa i

(A) A gHH | R € |

(B) @d U H Hewoul GuR & |
(C) =T HIE URed et el ¢ |
(D) I STheT & TSI el foha

RIE I

TSt FAT F T TR H GgEE
fAfafea 9 9 *i9 T € 2

(A) ST B S ST
(B) SRISTTRY
(C) st
(D) 3=a Sfia= yeamem
Paper-111



30.

31.

32.

33.

Primary Health Care Approach based

on equity, access and social justice is

a vital philosophy of social

development and it represents :

(A) Area Development Approach

(B) Consumer Rights Approach

(C) Minimum Needs Programme
Approach

(D) The Social Reform Approach

Social Development is an approach

to

(i) increase per capita income

(if) enhance the quality of life

(iii) respond to the problems of
distorted development

(iv) deal with poverty related
problem through a combination
of economic and social
measures

Select the correct answer by using

codes given below :

Codes :

(A) (i), (i) and (iii)

(B) (i), (iii) and (iv)

(C) (i), (iti) and (iv)

(D) (i), (i), (iii) and (iv)

Which of the following is not one of

the advantages of disinvestment ?

(A) Increasing Government
involvement  in  essential
Services.

(B) Improving public finances.

(C) Funding expansion plans.

(D) Expanding share of ownership.

The performance of Central Public

Sector Enterprises of Maharatna

Status is reviewed by

(i)  Inter-Ministerial Committee

(i)  Apex Committee headed by
Secretary,  Department  of
Public Enterprises

(iii) Apex Committee headed by
Secretary, Industry Ministry

(iv) Apex Committee headed by
Cabinet Secretary

Select the correct answer by using

codes given below :

Codes :
(A) (), (i) (B) (i), (i)
C) (i), (iv) (D) (), (i), (iii)

Paper-111
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34.

35.

36.

Rashtriya Gaurav Gram Sabha
Purskar is awarded under

(A) Panchayat Empowerment
Incentive Scheme

(B) Panchayat Empowerment
Accountability Scheme

(C) Panchayat Empowerment and
Accountability Incentive
Scheme

(D) Gram Sabha Accountability
and Empowerment Scheme

Which one of the following Articles
of the Constitution of India is related
to the President’s power to entrust
any matter, under the executive
jurisdiction of Union Government, to
a State with its consent ?

(A) Article 248
(B) Article 256
(C) Article 257
(D) Article 258

Which one of the following
statements is not correct about the
Integrated Action Plan (IAP) for
tribal and backward districts of
India ?

(A) 1AP was launched in 2010.

(B) It has been introduced in 82
tribal and backward districts in
India.

(C) The objective of IAP is to
create public infrastructure and
services in the selected
districts.

(D) The District Collector and
Chairman Zila Parishad have
been made responsible to chalk
out IAP proposals.

S-14-13



30.

31.

32.

33.

AT TS AT WIS =g I ST
e @Ry @Yol SUNTH HIHISTh

g &1 stfareeyu ¥F § | 3@
FAfaRad § ¥ fohd SUmT ot Afdfree
FIATE ?

(A) & foera sarE

(B) U SR SUTTH

(C) g™ 3MATATHAT HIIHH SUNTH
(D) WIS GER SUFTH

AT Toeh™T Uk 3UNTH &

(i) vfd =afeRT 3 | @il A &l
(i)  Sfrae =i ToTerT J@= H

(iii) fapd fowm = go@mst & ufd

FT

(iv) WSt eTferent & G Areadt
Y T ST gEeErst ¥ e
&

=1 e = TerFar ¥ W& W H ==

FHIT -

%<

A (@), (i) T (iii)

(B) (i), (iii) T (iv)

(C) (i), (iii) w= (iv)

(D) (), (i), (iii) T (iv)
?ﬂﬁmﬁ@ﬁquwwﬁ
0

(A) 3TEvTH Farell H THR i el
TR

(B) HESI- foa H gER

(C) Ta&aR FisFTe ol faaaioT

(D) T & 39T I TR AT

F5 TR TR Al W i =ora

I e FEied 0 9 g gRT H

STl & 2

(i)  3TR HaTeItareh WrAfd

(i) @ o9 foumr & gfaa @i
STERTAT § 3o WA

(iii) ST 9T & WG hi ST
o Iog amfd

(iv) HEmuse afaa Ht eTestdr 4 Sea
Tt

I 53 T Fe A ¥ HE SR H T
FHITT

he !

(A) (i) T (ii)
(C) (i) (iv)

(B) (i) wd (iii)

S-14-13
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34.

35.

36.

TR TR U AT GEHR ohdqahy e

T TR ST & 2

(A) UETI FEIFRIHIOT WedTe FSTT

(B) UGTHT TRIRIHIUT STETEISE! TSI

(C) vUumd WYMRROT TS STATeRer
EISIEE RIS

(D) T W SATERE! qAT FRIRIHOT
ST

TR diaue & Hefataa 5 4 g
ITIT H Ty LU I T Vet
g ST a9 Uguld, 99 WER &
FEAR AT F ST I A
ot foma =61 U9 & T 9 T h
T Tt € 2

(A) 3TT=T 248

(B) 3F=T 256

(C) =% 257

(D) =% 258

S den e et & gTehierd

HE ST (3UTT TR I : ST

% I | FEfatad § ¥ 91w

T T 2

(A) STETd T 2010 W YE far AT
a1 |

(B) 9 82 eI oo g et &
& T g |

(C) oTEudr & 3[avd T foferr o
AESIe STENETET adr et
1 T Y |

(D) el FHeidey qer e uiug &
3TEET T ST WIS ol T
TR & B SRR AT E |
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37.

38.

39.

Match List — | with List — Il. Select
the correct answer from the codes

given below :
List—1 List—11
(Programme) (Launched
in the
year)
(@) Swarnajayanti (i) 2004
Gram Swarojgar
Yojna (SGSY)
(b) Provision of (i) 2009
Urban Amenities
in Rural Areas
(PURA)
(c) Integrated (iii) 1999
Watershed
Management
Programme
(IWMP)
(d) National Rural (iv) 2011
Livelihood
Mission(NRLM)
Codes :

@ (® (© (@
(A) (i) (i) (iv) (i)

(B) (i) (1) (i) (iv)
(C) (v) (i) () (i)
(D) ) (i) (i) (i)

Which of the following institution is
responsible for the recruitment of
Civil Services in USA ?

(A) Office of Personnel
Management

(B) Federal Labour Relations
Authority

(C) Merit System Protection Board

(D) Equal Employment

Opportunity Commission

Which of the following approach is

developed by *Ong and Humphris’

for impact assessment of public

policies ?

(A) Cost-benefit Analysis

(B) Performance Measurement
Approach

(C) Rapid Appraisal Methodology

(D) Experimental Approach

Paper-111
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40.

41.

State  Finance  Commission s
appointed by a State Government
every five year to determine :

(A) Financial resources of the State

for placing State’s
requirements before the Union
Government.

(B) Development requirements of
the State for formulating State
Five Year Plan.

(C) Budgetary
various departments
State Government.

(D) Pattern of distribution of
State’s tax revenue between the
State Government and Local
Bodies (both rural and urban)
and the pattern of Grants-in-aid
to Local Bodies.

requirements  of
of the

Assertion (A) : Mahatma Gandhi
National Rural Employment
Guarantee Scheme has not
made any impact on the lives
of rural poor.

Reason (R) : Social Audit could
minimize the defects in the
implementation ~ of  social
development programmes.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
S-14-13



37.

38.

39.

& - | @ ogE - 1% 9 gaferd
T | e T T e w weE |
Tl 3T BN T BT

e - |
(HTIEHH)

=t - 1
(7w b
S %7 aY)
(a) @vi =t W (i) 2004
LA BN
(THSITEET)

(b) wmioT &= H SR (i) 2009
gieenaT 1 A
(Fg3TRT)

(C) THTHICTT STeTeTe
PECERCOEER)
(ST

(d) g wEior
SilCEaRtNE]

(iiii) 1999

(iv) 2011

(LTS eTTH)
FT

@ ® @© (@
(A) (i) (i) (v) (1)
(B) (i) () (i) (i)
(€ @v) @) (1) (i)
(G) () () (i) (iv)

STAIHT | T Farewt § 9ot & T =T

T 9 G G STREE € 2

(A) SHTFT HTF WHAA BT

(B) et oo Reterg sitenfeet

(C) uRe fawey uewH ais

(D) =@ UHAEHE SRl
HHET

Wk Al & T F R & 37T
qq BWRNT T fatAd SR
fffEa A g s e ?

(A) T fagerToT
(B) o FEIE WU IUNTH
(C) e goaisT ufafy
(D) VI SUNTH

S-14-13
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40. TfafEa O 9 fHEsr FuRo =49 &

41.

oI T WHRT 5N T 9re b T

fory 3T ey fopa T € 2

(A) FEF WHR & THT T[T &
SMATAHATST I TId FA 7]
T o ST 1 ER0T B &
ferw

(B) TT W UTET AISHT Pl TATS
FH B T H (TS
JMavTHATS H FERT FA F
ferw

(C) T W&HR & fatr= fovmm =t
ST ST I TUROT A
% feTe

(D) T WHR oA HF e
(ITE AT UTHIOT) & S -
faror @ wEE e @
HRFA-FR/EAAR o [aawor &
WEY T FER A & o

At (A) : TeTedT T TR arHT
TR TR=T gf=m (Thm)
T AT & SAed W HE G
TR T TAMEE |

HRUT (R) : FHISE fowr & st
" FeAt B FH FA H G
3ToRRI0T IHeRT FIST |ehell T |

(A) (A) R (R) 31 T & 27 (A)
1 (R) TE TR |

(B) (A) &R (R) i @l €, o (A)
1 (R) Hel TR0 =T8T € |

(C) (A) FEe, W (R) T & |
(D) (A) o &, W (R) Tl € |
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42.

43.

“Public administration is constrained
by Constitution and relatively
unconstrained by market forces and it
is considered a public trust exercised
on behalf of the sovereign.” Who of
the following made this statement ?

(A) Rosenbloom D.H.
(B) Wallace Sayre
(C) Lipsky M.

(D) Peter M. Blau

Match List — | with List — Il. Select
the correct answer from the codes
given below :

List—1 List— 11
(Author) (Book)
(@) Dwight (i) Frontiers of
Waldo Development

Administration

(b) Edward (ii) Development

Weidner Administration
in Asia
(c) F.W. (iii) Temporal
Riggs Dimensions of
Development
Administration
(d) JamesJ. (iv) Spatial
Heaphey Dimensions of
Development
Administration
Codes :

@ ® (@© (@
(A) (i) (i) (@) ()
(B) (i) (@) (v) (i)
€ @ (i) (i) (v)
(D) (iv) (i) (i) (i)

Paper-111
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44,

45.

46.

Match List — | with List — II. Select
the correct answer from the codes

given below :

List—1 List— 11
(Principles) (Explanation)
(a) Espirit () Right man in

de corps the right place
(b) Equity (i) One head one

plan
(¢) Unity of (iii) Justice
direction tempered with
kindness
(d) Order (iv) Need for
teamwork and
healthy
interpersonal
relationship
Codes :
@ () () (@
(A) () (i) (v) (i)
(B) (i) () (i) (iv)

(C) (iv) (i) (i) ()
(D) (i) (i) () ()

Grading of duties, not according to
different functions, but according to
degree of authority and
corresponding  responsibility, is
called

(A) Hierarchy

(B) Division of functions

(C) Decentralization

(D) Span of control

Unity of Command is in contradiction
with which of the following ?

(A) Centralisation
(B) Delegation
(C) Functional foremanship
(D) Adjudication
S-14-13



42.

43.

TT-TIfeRTal §RT AEER &t & — e
T TEEER H AR ¥ Gerfed oAl
T T T E 1”7 T8 HU hHH € 9
(A) TETH SLEs,

(B) oo AW

(C) fowwnt TA.

(D) U TH. =8

g - | ® gE - |l % 9 gt
T | e T T e w weE |
&l 3T BN T BT :

e - |
(cTE)

(a) =ameZ
et

=t - 1
(T&T)

(i) wead am
TIATHE
vefHfrRgem

(i) ST
USTHRZT 3
iR

(iii) ZuRet SEHYR
3 SaATIHE
LSRR

d) s s (iv) SR SEHeEY
T 3% SaATHE

vefHfrgeE

(b) weae
ClECrs

(c) T

@ G @© (@
(A) (i) (i) (@) ()
(B) @) (@) (v) (i)
€ O (i) (i) (i)
(D) (iv) (i) (i) (i)
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44,

45.

46.

g — | ®m g - | % ar e
T | A T T H w weE |

TEl ST T TTT T ;
=it - | =t - 1
(TagTa) Gt ACay)

(a) ThORe (i) W& ©H W T
2 FHR =ferT

(b) =

(i) == o TH
RISEI

(c) FEwrat (i) 3 % ®ROT =A™
Tl e &
(d) e (iv) T8 & &
AEHAT AR
T FqagioIh
qEY
HT
(@ (@ () ()
(A) (i) (i) (iv) (i)
B) (i) (i) (i) (iv)

(©) @iv) (i) (i) (i)
(D) (i) (i) () ()

AT HT VBT TR AT HEt &
TETEYT STamERfedl o STER T fohaT ST
T FHEA & 2

(A) TETE

(B) & o=

(C) fToshsietor

(D) =0T =t &

HARYT & Thal efaiad § 9 feas
foig 5 & 2

(A) FETHT
(B) vATEISH
(C) VHmEIcHS HIREARTY

(D) = fviga
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47.

48.

49.

Match List — | with List — Il. Select
the correct answer from the codes

given below :
List -1 List— 11
(Thinkers) Views)
(@ Woodrow (i) The life blood
Wilson of
administration
IS power.
(b) Luther (i) The field of
Gulick administration
is a field of
__ business.
(c) D.Waldo (iii) Public

administration
research  was
grounded in

Political
Theory.

(d) N.E.Loug (iv) Politico-
administrative
system IS
unique and
warrant unique
treatment.

Codes : X y

a C
a @
SRR IO
iv) (iii i I
D) (ii) (iii ((IV) (i)

Which one of following is not the
basis of New Public Service Theory ?

(A)
(B)

(®
(D)

Assertion (A)

Theory of Democratic Citizenship
Models of Community and
Civil Society

Organizational Humanism and
Discourse Theory

Public Choice Theory

:The New Public
Management with its explicit
‘Market’ orientation and over
reliance on the private sector
has varied responses from the
commonwealth countries.

Reason (R) : It looks that neo-

classical ~ economics  has
captured the public sector all
over the world.

Codes :
(A) Both (A) and (R) are correct and

Paper-111

(B)

(C)
(D)

(R) is correct explanation of (A).
Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.
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50.

51,

52.

53.

54,

The term ‘“NOISE’ is connected with
which of the following ?

(A)
(B)
(©)
(D)

Decision-making
Leadership
Communication System
Motivation

“The number of cross and group

relationships

increases in

mathematical relation as the number

of subordinates

assigned to an

executive increases.” Who among the
following advocated this view ?

(A)
(B)
(©)
(D)

Who among
proved by his studies

Katz and Kahn
Wildasky
Graicunas
Norbert Weiner

the following has
that the

democratic style of leadership is the
most effective in management ?

(A)
(B)
(©)
(D)

The

Fred E. Fiedler
Kurt Lewin
Rensis Likert
Chris Argyris

best known theory of group

supervision, called the ‘linking pin’
concept is formulated by

(A)
(B)
(©)
(D)

Frederick Herzberg
Abraham Maslow
Rensis Likert
Douglas McGregor

Anti-bureaucratic approach was most
dominant in the writings of

(A)
(B)
(©)
(D)

Christopher Hood
Ferrell Heady
Vincent Ostrom

Dwight Waldo
S-14-13



47.

48.

49.

gEt — | @ ogdE - 1l % 9 gaferd
T | e T T e w weE |
Tl 3T BN T BT
i - | =it - 11
(ferermeen) (gftewmim)
(a) g (i) vfem, vwemEd @
T ST § |
(b) T (ii) TRTET W T TH
G H ST T |
© . (iii) o veEE gy
EIE] SEIIRCAR ATy
3R o7 |
() EERISERNIRIEED
Ugia e € aum
e HA] o{dld

T B ATHAT € |

(d) er.é'.
AT

T
(@ (b) () (d)

(A) (1) (i) (iv) (i)

(B) (i) (iv) (iii) (i)

(C) (iv) (i) (i) (i)

(D) (i) (i) (iv) ()

=1 9 & & 91 79 i Far g @
YR el & 2

(A) VST AN (s

(B) VMR Ud AR THS AT

(C) T AFear ud fameicrs

(D) i =g ST

At (A) . I gEE aeR
STTEIRYOT T FAstT & oR 21fa-
FRar & SR TEH Ah T
w AEHTSASY §  ofgerye
TfafehaT W 85 € |

FHROT (R) : UG UG &Il & S -
IS SN 7 g R OH
eI &7 T FesTl e T@T & |

E!g?:
(A) (A) 3R (R) 31 T & 27 (A)
1 (R) Hel T € |
(B) (A) ¥R (R) 3 Wl € 3R (A)
1 (R) Hel S0 & € |
(C) (A) Wl g, W= (R) T/ € |
(D) (A) 7o ¢, W= (R) Tel ¢ |
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50.

o1.

52.

53.

54,

W(Noise)ﬂaﬁmﬁf@ﬁﬁ@m@
T € 2

(A) R Fmmr |

(B) "g= ¥

(C) TR worett |

(D) AhyEROT 9

“HYSY HEUTAR i fGT T STt
H TEm H gy B ¥ a9 & U
ToTATeHss ®9 § 9 Ud Argfecsh deet
H e B gy gt § |7 Fefatea 7 9
T 3T a1 T8TeR AT 2

(A) ST T HRA

(B) fawer@nt

(C) Up

(D) FEE dR

frafafad § 9 e ome sremae ©
fag forar € T g 1 USTaite Sl
TeYT § et TEeIe el § 2

(A) T3 Theer

(B) % cifem

(C) &g forhe

(D) ThE smRE

feAfehT 97 FeheumTT o A1 | STHT STH
alﬁ w;eiqﬁéxjm % Glaed fagia &
IS Tohg ThIT AT ?

(A) el gstan

(B) 3TTEH WAl

(C) faw ferere

(D) ST HHUTR

frger oeT § Arenemel fagdr s
Hed ST YTl @ & 2

(A) FrEIw g
(B) et gEl
(C) fodiz stgm
(D) TawE dreel
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55.

56.

S7.

58.

Who of the following glorified
Herbert Simon as “The one man in
the world who comes closest to the
ideal of Aristotle or a Renaissance
Man” ?

(A) Woodrow Wilson

(B) Richard Cuert

(C) L.D.White

(D) Luther Gulick

Which one of the following has been

a common theme in all the three

Minnowbrook Conferences held so far ?

(A) Public interest orientation

(B) Relevance

(C) Effective decision-making

(D) Global approach to public
governance

Assertion (A) : Leadership is judged
by results not by attributes.
Reason (R) : The productivity of
work is not the responsibility of
the worker, but of the manager.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Arrange following experiments of

Elton Mayo in chronological

sequence :

(i)  The Great lllumination

(i)  Social Organization

(iii)  First Enquiry

(iv) Human
Sentiments

(v) Absenteeism in the Industries

Codes :

(A) (i), (i), (i), (iv) and (v)

(B) (v), (i), (iv), (iii) and (ii)

(C) (iii), (i), (iv), (ii) and (v)

(D) (ii), (iii), (iv), (i) and (v)

Attitudes and

Paper-111
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59.

60.

61.

Which one of the following is not

correct about Chester I. Barnard ?

(A) He developed the philosophical
ground work for management.

(B) He was only concerned with
human-relations school.

(C) He went deep into sociology,
psychology  and abstract
reasoning.

(D) He was called spiritual father
of social system school.

Match List — | with List — Il. Select
the correct answer from the codes

given below :

List—1 List— 11
(Thinkers) (Concepts)
(@) Peter F. (i) The Scanlon
Drucker Plan
(b) David (ii) Theory of

Osborne and Department-
Ted Gaebler alization
(c) McGregor (iii) Generic
Management
(d) Luther (iv) New Public
Gulick Management
Codes :
@ ® © (@
(A) () (iv) (i) (i)

(B) (i) (iv) (i) (i)

(©) (i) (iv) (i) (i)

(D) (i) (i) (v) (i)

Woodrow Wilson laid emphasis on

which of the following ?

(i) Separation of Politics
Administration.

(i)  Improving the effectiveness of

Public Service through

management and by training of

civil servants.

Comparative  analysis  of

political and private

organizations.

(iv) Divide work nearly equally
between managers and workers.

Select the correct answer by using

codes given below :

Codes :

(A) (i) and (ii)

(B) (i), (ii) and (iii)

(C) (i), (i) and (iv)

(D) (i), (iii) and (iv)

and

(iii)
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55.

56.

S7.

58.

TS WIEAT Hl HiEHT T8 FXd Y Thar
ITEHT AU AT T THT AR ST 3RE]
% foamt & e aifush Foiere & a1 T
TSRO 959 & & ¥4 § 6 2

(A) T3l forcwr

(B) Fare g

(C) TS =T

(D) IR Tk

3T d% O aFl S T e |
= & 9 . qm famgeg off 2

(A) e fed =@

(B) wTERTERAT

(C) et ot fmror

(D) ik IME & Wi Af¥erh gieeahioT

ATHUT (A) : FFT T b IROTH
T grar ¢ 7 {6 oeron
HROT (R) : FF DI SEHAT HER H

Tel Teeh ol SMided gl € |

C A

(=N

(A)

(A) 3R (R) IHT W&l & 3R (A)

1 (R) T& WL ¢ |

(B) (A) 3R (R) I Tel € 3R (A)
1 (R) Hel TIEIH0T =& € |

(C) (A) T ¢, R (R) Toid ¢ |

(D) (A) Tord €, W] (R) Wl ¢ |

Teed WAl % [EfeiiEd TR @
HTATHH | Fared i

(i) 39 TofERE

(i) VT SRIARSIYH

(iii) L TparEd

(iv) 7 tleed s Sferea
(v) oreufesH 3 T Trewg
ETE

(A) (), (i), (i), (iv) T (v)
(B) (v), (i), (iv), (iii) T (i)
(C) (i), (i), (iv), (ii) T& (V)
(D) (i), (i), (iv), (i) T (v)
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59.

60.

61.

frefefad & & & o1 FoF AR e

e & foamg o wel & ¥ 9

(A) T TEE % AT SIS STeR-
F T |

(B) 3WH TIW hael HHA-HEH
ToamRemT & o |

(C) THSISI, HAIGSTH T AT
THUT T P! Tt U ot |

(D) 3H |EE Jomel foamemr
SRS ST el STl T |

e — | gl - 1] % " gl
FHifoTT Hﬁﬁ%&f?g&ﬁaﬁmﬁ
3T hl I hI[ST
=i - | =t - 1
(ﬁ%miﬁ) (SraEmum)
(a) T U TR (i) I A W=
(b) e aFEH (i) =R i
Td 28 e feurca=

AT
(c) FFIR (i) SFHifess

AT
(d) R i

(iv) =g dfsereh
TS
FHT

@ () () (d)
(A) () (v) (i) (i)
(B) (iii) (iv) (i) (i)
(C) (i) (iv) (i) (i)
(D) (i) (i) (v) (i)
e oo J HEfeiad § ° 5y W
TR fear € 2
(i) T 31T UeTE <l gerehm |
(i) TafoeT Saept & UfRTeToT qom Yemem
% S ik FaT B TSI
T GURAT |
T qen sl Gmet @

qeTTeH fagetuoT |

BIEIW aﬁ? FHER & o HH
H T SRIER-SRIEY oIt
FA
= fer o @ 1 ITANT HA T el
3T hl I [[ST
%!
(A) (i) ¥ (ii)
(B) (i), (ii) = (iii)
(©) (i), (ii) 3R (iv)
(D) (i), (iii) =R (iv)

(iii)
(iv)
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62.

63.

64.

65.

Which one of following is not a
feature of administrative system of
developing countries ?

(A) Colonial legacy

(B) Operational autonomy

(C) Formalism

(D) Lack of technical competence

Which one of following French
Prime Ministers said that “the
administration is as represented by
the grands corps” ?

(A) Edith Cresson

(B) Jacques Chirac

(C) Michael Rocard

(D) Michael Debre

Which of the following is not one of
the department of US Federal
Government ?

(A) Agriculture

(B) Commerce

(C) Industry

(D) Health and Human Services

Match items in List — | with items in

List — Il. Select the correct answer
from the codes given below :
List— 1 (Civil List—11
Service) (Characteristic)
(@) Conseil (i) Corps for
d’Etat bridges and
roads
(b) Inspection (ii) Technical corps
des
Finances
(c) Corpsdes (iii)Specializes in
Mines administrative
law
(d) Corpsdes (iv)One of the first
Ponts et five grands
Chaussées corps
Codes :
@ O () (@
(A) () (i) (i) (iv)
(B) (ii) (iii) (iv) (i)
(© (i) (i) (1) (v)

(D) (i) (iv) (i) (7)
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66.

67.

68.

69.

Assertion (A) : The ethos of Private
Sector Management is
becoming important to Public
Sector Management in the post
Liberalization era.

Reason (R) : Public Sector is a drain
on the Public Exchequer.

Codes :

(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

The study which compares whole
administrative  system of two
countries in their proper ecological
context is called as

(A) Micro study

(B) Macro study

(C) Middle range study

(D) Area study

Donald C. Stone states that, “the
process involved in moving from an
objective to be accomplished to the
actual creation of organisation,
service-system, new practices or
relationships which evidence that
change has actually taken place” is
termed as

(A) Administrative development
(B) Capacity building

(C) Nation building

(D) Institution building

Who defined under development as a
condition  characterised by an
ongoing process of retrogression ?
(A) Alfred Sauvy

(B) Mao Zedong

(C) Andre Gunder Frank

(D) Walter Rodney
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62.

63.

64.

65.

= # ¥ %= 9@ fowmsier S @ f
TR SIare i fagar &t & 2

(A) AT foRTed

(B) AT T

(C) farg

(D) F-Irehl HITTeT T TS

= 9 9 v Wi TueEsT 3 e
TR o8 & S9! Ui Ted HiX
% g o ST € 2

(A) Ufsy e

(B) Sish FRTH

(C) TrRHe AHS

(D) wEHA o

17 o @ @i a1 ST B WHT WHR
T o &l & 2

(A) B

(B) @y

(C) @

(D) @A U qHEEE dart

gEt — | @ ogdE - 1 % 9 gaferd
FIST | A9 T T 2T B TR 9
TE I T I R

= - |
(i )

(a) wifaet

CACrA

= - 1
(Fererered)

(i) = &R forisy

e Usq

(b) FwosE (i) e FE
e

EOEEE
(©) I (i) SRS &
TeHHEeT o

EiEs)
(d) =TT

qi=q U

TI3Aq
FT !

@ () (¢ ()
(A) () (i) (i) (iv)
(B) (i) (i) (iv) (i)
(©) (i) (i) (@) (v)
(D) (i) (iv) (i) (i)

(iv) 7 3 T T
FIZd UV 09
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66.

67.

68.

69.

AfMHTT (A) : IW /RO T |
foft & weea & =Ree T
e &7 vEe & fow o
Hewaqul &id ST T |

HROT (R) : FESE &7 G
T[T o 3T LT ¢ |

ETE

(A) (A) 3iX (R) 3T T & 3T (A)
1 (R) Tel T ¢ |

(B) (A) 3iX (R) IHT T ¢ 3 (A)
1 (R) Hel TR0 =& € |

(C) (A) W& e = (R) T ¢ |

(D) (A) T & W= (R) W& ¢ |

T 39 T THY URTE(eh FOTeAl 6l 37
Tfaq ufefqeE |93 qemesh
3T ol T el & 9

(A) TR e

(B) Hohl Tt

(C) frgw & =

(D) Ui &=t

TS 9. @ A 98 Rl §, “U e
S aTet 329 9 TS Feall YOTTedT, el
T3l ST Geel hi ard(ah =EoT A
O & T T | G Uik
e = fog e i uitads ara o an
<JohT & T T el & 2

(A) TR o

(B) &rma FHTT

(C) g T

(D) g fmr

31eq faehr it foha uvaTH= i ufshar
H R HFA dell &g ' oo
R feha € 2
(A) TFhe qat
(B) T3t SEnT
(C) ug et ik
(D) dmeT et
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70.

71.

72.

The bureaucracy tended to be more
powerful in developing countries
than in the developed ones.” Who
among the following have supported
this view ?

(i) F.W.Riggs

(i) Edward Weidner

(iii) Ferrell Heady

(iv) S.N. Eisenstadt

Select the correct answer by using
codes given below :

Codes :

(A) (i), (i), (i)

(B) (@), (iii), (iv)

(C) (i), (iii), (iv)

(D) (@), (ii), (iii), (iv)

Which of the following is the correct

elaboration of VV.A. Pai Panandikar’s
formula ‘CROPP’ ?

(A) Coordination, Resources,
Organisation,  Public  and
Personal

(B) Coordination, Resources,

Organisation, Policies and
Personnel
(C) Coordination,

Organisation,
Procedures
(D) Coordination, Resources,

Office, Personnel and Policies

Resources,
Personnel and

Assertion (A) : Policy maker is
bound to consider variety of
factors while taking policy
decision.

Reason (R) : Policy makers are well
versed with  environmental
factors of policy agenda.

Codes :

(A) Both (A) and (R) are correct and
(R) is correct explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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73.

74.

75.

Assertion (A) : The bureaucracy
plays an important role in
policy formulation.

Reason (R) : The formulation of
policy requires the advice of
persons who are impartial or
neutral.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Which of the following statements
about municipal accounting reforms
IS not correct ?

(A) They are the foundations for
integrity and maturity  of
Government.

(B) They can serve as engines of
good governance.

(C) Acceptable accounting
practices need to reflect both
the financial transactions and
financial performance of the

ULBs.
(D) It helps the local bodies to have
greater technical

accountability.

‘Networked Government’ is the idea
of

(A) Honey Report
(B) 1% Minnowbrook Conference

1968

(C) 2™ Minnowbrook Conference
1988

(D) 3 Minnowbrook Conference
2008
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70.

71.

72.

“forepata 3T St 3TUeT fasprasticr 3o o
RIS 1Ty vIferAemett e | Yga
BT & 1" 39 foaR & qHeA fEtarad
T fope T € 2

(i) UReS=yg 9

(i) ueaE SR

(iii) w e

(iv) THTA. RIS

T T T FZ H ITT K G W
ELE

ETE

(A) (), (i), (iii)

(B) (i), (iii), (iv)

(C) (i), (iii), (iv)

(D) (i), (i), (iii), (iv)

T THifeRY % ARG HeTRey

F1 &I foiid &9 Fefatad § 9 s

qE?

(A) HiefeeE, RERS, SmHREsIE,
UfecAeh W08 98-t

(B) whlemievH, NG, smHTE=Ivm,
iieATTST TUS T

(C) wremfevH, REEST, =9,
qqiHeT U Wi

(D) wiemeeE, R,

ERIECRUCRIGIEE]

Hifwg,

arfirspere (A) : Fifd o & o o
T M T HT TR AT
TATE |

HROT (R) : Aifq Fmiar =ifq s &
JATERONT qe W T ST
T E |

(A) (A) 3R (R) 34 T&l € 3R (A)
1 (R) Tel LT T |

(B) (A) 3R (R) =T Wl & 3R (A)
1 (R) Hel TR0 =& € |

(C) (A) W& e = (R) T ¢ |

(D) (A) Tord €, W] (R) Wl ¢ |
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73.

74.

75.

atfireperm (A) : Aifd o § sttt
T I TEaqoT YT Bl & |

HRUT (R) : Aifq 0o o forer qen
T ATITAT S Fellg bl T

BT |

ETE

(A) (A) 3R (R) 34T &l € 3R (A)
T (R) TE TR & |

(B) (A) 3T (R) IHT W&l & 3R (A)
1 (R) Hel TR0 & € |

©) (A) W& W (R) T & |
(D) (A) Ter &, R (R) W& |

TRUTAH @l guRT & Gog o
frefefad o @ @i a1 %o @ @i 2

(A) T THRX H  F@USA  qdl
RgeEdr o e & |

(B) ¥ gUIEA % ARH & €9 H HA
FGHA T |

(C) TWIHE @ HF YR 6
TR T F@E@et & o
T qen o uesE gH
PIRICIERRCTGIRC Il

(D) o& WHE T H T
TehIehl STaTee! &1 Faie A o
[eq ST § |

L C o o > o
ST Teu=’ foaR i 3 9 fohae

T2

(A) & RaE w5

(B) WY fHiseh T 1968
(C) fecirar oI TieT 1988 =T
(D) T TS Tt 2008
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